Multiplication (B)

60X 7=
9x 2=
10 x 10 =
7T X 8=
1 x 10 =
7TX6=
10 x 2=
DX 0=
HX 2=
6x 7=
HbX 9=
1x3=
4x4=
9x 6=
8 X 3=
3X 0=
8§ X 2=
4x8=
10 X 6 =
8§ X 2=
6 X b=
60X 3=
3XT=
1 x4=
10 x 1=

Calculez chaque produit.

60X 3= 2 X9 =
2X 8= 10 x 5=
7TX6= 9x 9=
5 X 9= b x4 =
9x 10 = 3x1=
1 x5= 6 X 4 =
bx 1= 4x1=
7TX 2= b X 8=
60X 3= 8x 4=
3 X 3= 4x8=
8 X 5= 2 X 7=
1 x3= 8§ X 8=
7x 10 = bx 4=
10 x 4 = 4 x4 =
1 x4= 4x7=
88X 7= 8§ X 2=
8§ X 9= 1 x9=
10 x 3 = 9x b=
4x3= 2X 7=
4x3= EX 3=
S5 X b= 7Tx9=
7T X 8= 2% 6 =
3X 5= 9x 7=
9x 3= & x4 =
b X 4= 7Tx9=

HxX 9=
2X6=
Hhx 10 =
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Multiplication Solutions (B)

6 X 7=42
9x2=18
10 x 10 = 100
7 X 8=56
1 x10=10
7T X 6=42
10 x 2 =20
b x6=30
5 x2=10
6 X 7=42
bx9=45
1x3=3
4x4=16
9x6=>54
X 3=24
3 X 6=18
8% 2=106
4 x8=32
10 x 6 = 60
8 X 2=106
6 x5 =30
6x3=18
3XT7T=21
lx4=141
10 x 1 =10

Calculez chaque produit.

6 x3=18
2xX8=16
7TX6=42
5x9=45
9x 10 =90
I x5=5
bx1=5
Tx2=14
6 x3=18
3xX3=9
8 x 5 =40
I1x3=3
7x10="70
10 x 4 =40
1 x4=14
8 X 7 =56
8X9=72
10 x 3 =30
4x3=12
4x3=12
5xb5=25
7 X 8=56
3x5H=15
9x3=27
5 x4 =720

2xX9=18
10 x 5 =50
9x9=23I1
5 x4 =20
3x1=3
6 x4=24
4x1=4
5 x 8 =140
8 X 4 =32
4 x8=32
2xT7=14
8 X 8=04
5 x4 =20
4x4=106
4 x7=28
8 X 2=106
I1x9=9
9 x5=45
2x7T=14
X 3=24
7x9=03
2xX06=12
9x7=063
8§ x4 =232
7x9=03

5x9=45
2X6=12
5x 10 =50
3x3=9
4x4=16
6 x 10 =60
6 X 8 =48
8 x5 =140
3x5=15
2x8=16
7x10="70
3xXT7T=21
10 x 10 = 100
3x3=9
2xX4=38
3x 10 =30
7x10="70
8x1=38
1x4=14
3 X 6=18
7Tx2=14
1 x8=28
6 x 10 =60
3 X 8=24
b X 7=35
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